Brace 4. Torsional Beam Bracing

Fy := 260lMPa v := 0.3 E :=200000MPa ¢@:=0.75 @ = 0.9 L := 24[m length of girders

Ms := 1400inffion  factored moment (maximum)
Unsymmetrical girder

Ng =4 number of (span) braces (transversal to girders)
bf_tOP = 15[ém t top = 2[ém h := 125[m t,, := 1.26m S = 2.4 separation between girders and

length of torsional braces segments
bt bottom := 40@M tt pottom = 2.5[EM

Cbb =1 Cb for the braces
by = bf_bottom t2 = 1 pottom by := bf_top 1 =t _top
A = (h -t - t2) [y + brdy + bolih Area of this Section A = 274.6cm2
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Braces
b := 10[dm tr ;= 1.5[dm h := 25[¢dm ty = 1[6ém
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Web Stiffener at brace location

h; := 50[¢m height of bottom of brace from axis of bottom flange ts := 1[6m be := 30Gm  unwarranted guess stiffener dimensions
=1

Given tw of girder is surmised per fig 23 in Yura,

Fundamentals of Beam bracing
2 3 3
B, = 3.3[E { Htot 1.5 [Ty N ts[Bs
¢ h; h; 12 12

]

b := Fi nd( bs) bs = 8.44cm required (horizontal) width of stiffener stiffener extends the full height



